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@ The question paper comists of 32 que Ll ifﬂ't'fweuct[onsA B,C.0DandE
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marks each, Section.C earme s ol 10

tion-0 comprises of 6 questions of 2
s cach and Section-D cemorises of

11 questions of 4 marks « LScetinn Boeompiises ;-"- 1
of 10 marks,
{3 There 13 no overall choice

[} Use of calculator is not permitted.
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Question numbers 1 to 4 carry one mark e

ach
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The taxi fare in a city is as fellows : For the first km, the fare is T 10 2nd for the subsequent
distance, it is Rs. 8 per km. Taking the distance covered zs ¥ km and tctai fare as Rs, x, write
a linear equation for this information.
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Garvit and tributed Rs. 450 to P\ 's relief fund for earthquake victim. Express this
siluation as a lir} ?ﬂ _'tlm in tw0 variable.
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In parallelogram ABCD of the given figure, JOAD =
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A beam 9 m long, 40 cm
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wass of the beam m kg.

—

cubic cenlimeler. Then find 17

EUE-A [/ SECTION-B
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Question numbers 5 to 10 carry two marks each

5 W W 5251w e g T v e v )1 i
Using protractor, draw an ang &‘ﬁ Di '”tdjl you divide this angle into two equal parts. Sh
it.

. fa1 f  sCAB=sDCA 3%
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=16 m? &

ar (ABCD) TR iy

iar (ACD) « 1o em?, find ;u(:\UCIS).N
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A B

In the given figure, AB is a chord of a circle with centre O. if ZAOD =607, prove that AD= 1

diameter.
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If the volume of cuboid is 440 cmn ng(\\ Jh‘%‘uw is 88 cw?, find the height of the cuboid,
r
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Jf rl";?\\
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s".‘ﬂ-l-y _ .5:,'?43.3,:& -
9 afe Au x, 2v+1, 2045, 307 2y 9 W mA 0 0 vy, gl T &7
[f the mean of the observations 1, 2v 4 1,20 45, and 2v + ‘ﬁu‘éﬁﬂ W is the mean of first three
observaltions ? P '*Qi/;}’
> 4
Yy &
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There are 13 girls and 15 boys in a line. Il one student is chosan al random, then find the
probability that he is a boy. '

TUS-H / SECTION-C
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Question numbers 11 to 20 carry three marks each.

1.1 - - o e EE o — 3 N & = =
ST ASCD 1 s SiR WISE #0716 v i 4 3 41 A 3R ¢ 3 fadwe w0, 2

0) 3 (6,4) T1 B 3R D * fFawi= faf@m suaq = @ gq=is & g o fafe

Length and breadth of rectangle ABCD are 6.units and 4 units respectively, Coordinates of A
and C are (0, 0) and (6, 4) respeclively. Write coordinates of B and D. Also write equations of
all the sices of the rectangle,

% '*-T?<mr+3y=25 %ﬁ}'aﬁ-f:ﬁmﬁ%ﬁm\aﬁ?ww*ﬁﬁﬁtfu_l &
I 7x + 3y =25, wy ﬁ%&;n termis of x and also find the two soelutions of this eguatian.
\?,
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If two chords of a circle wi fc mon end-point are inclined equally to the diameter
through this common end point, pgbve that the chords are oqual
14 booanc Aol mage fm uc - im BE 1 2CBE # AR A 3
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In the given figure, O is the contre of e cirgle, ZADC = 1107 and chord B€ = chard BE. Find
the measure of ZCBL.
15 ACDE #1 31 ®ifa1m, il £C = (20°, D= 30" 3K {53 | 7= 13 am 4] 3

Construct ACDE in which £C = 120° 2D =30" and perimeter of the triangle is 13 cm.
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AABC %! To1 ®ifog ] AB + BC+ CA =105 cm, £B=45° 371 £C =120° Al
Construct AABC in which AB+BC+CA=105cm, £B=45"and 2C=120".

L/ AB 3R CD @"?Ffaﬁ A guiar St ¥ 1 ¥ W fauda e 3 wEw e € AB=24 cm R 3
CD =10 cm 21" SIAYAB ¥ A5 em &1 5 W 3, @ s CD 71 7 F 5% A 71 70 =
opposite sides of the centre such

AB and CD are two paralfelichords of a circle lying on the
from the centre, find

that AB=24 cm and C'=A0 cm. If the chord AB is at a distance of 5 cm
the distance of chord CD frout t}__ie gentre of the circle.

18 A g et F el § s 2 3y T SR § e 504 §1 TH TR w3

ST T i |

The radii of two circular cylinders are in the rftiog: Jand their heights are in the ratio 5:4.

Calculate the ratio of their volums

19 frg Tu g g @ WA H O Rl )
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B et 3 s W P fem o g g2 e frslt ® wmter s frefafmm & kg 798 g 3
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4.795 kg, 4.805 kg, 4.810 kg, K25 %y, 4 401 K ﬁl Ak p 4800 ke, 4,800 kg W 1817 kg o 2
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(a) TR MTA kg 800 g, A aifurr &

(b) R R 4800 kg T T EH &1 A
’ , its Jdistribflte lie occassion of
. s civhts of 10 Loxes of dry fruits distri ted on
Following are the Actual weig = . 4.800
ol kg 708 g, 795 kg, 505 kg, 4810 kg, 1825 hy 4801 by, 4758 ke 4800k, -
= : i at random. Find the probabdity thot :

.
x"ar

and 4.817 kg. A boxis chosen

Its weight is more than 4 kg 80 g

(a)

(b) Its weight is 4.800 kg or less than it.
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Question numbers 21 to 31 carry four marks cach.

21 e Topel bl BRI X W & Al mim ok wifam A qumssh tea s A @y difed = wmen 4
& fere ¥ 100 &1 A faan 33 mwr'ﬁh@?ﬁ"mﬁﬂ v tfas wHaw fafaw) 59 773
it Hifat

Yamini and Fatima, two students of class IX of a school, together contributed ¥ 100 towards the Prime
Minlster’s Relief Fund to help t !ée carthquake victims. Write a linear equation which satisfies this datz.

Draw the graph for the saﬁw %‘”

22 LB | E R TR e (e —

FAURiE A T Y F SEe om &\ et o
S o7 T % fom, T e s e Aa wetfom Wtew ) W w3, ==
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e
You know that the force applicd o a tody v directly proport o '{}Eﬂte!tzntion produced in the

deY. ‘IVHI.E an ‘_'quﬂtlon to Cej37€4s ‘;i s Wluation armn 'l i the r' ]l h %gﬂallﬂn Take co"‘s art s

3, {oice 6?39 sﬁ‘? on

y-axis and acceleration on x-axis. Ao, find foree, d 3 body is maving with an ﬁ fration of 3 units.

3 A i & A v ity (a0 G awdba fem o m By AR N o @ A e
famam T=n & f!ﬂ 2 vl sogme W TEran 3 {..r.:_ A frm WM W W Yoy T t_
T, St i, aryam, el ¥ fir o o wan e o e org 4 ok 0 S
S ¥ AW UE wme wm ol faail A, 1,'C 3im D 9 an i m2 9N E, D fag wifam
AB = CDhs=
2

(AD=TC) B g1 wet % gm a4 smq @ wgm o m w@

| -
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“EEmD crzamized between two teams. The proceeds of this match
<laritable Hospital’ for hm\diualipml children, ‘The field is

Bve isld andt > = 7 7im as shown in the figure for spectators, If O is the centre of
ield and forr poies e dli ot moite A * TR
e f mpomts AYB, Cand D lying in a straighits line, Prove that

(AD—-BD) Wadrodl 1o i i ton:
(AD-RC, .zf{:;-_'c 5 promoted through this (uestion?
J %
) 4

24 pia H, paRs TF To=e ¢ e pales P A ps e g T TR

(i) APQR = AQPS
() PR=0S
P s 2. s
} y
A, .
S . | E

In the figure, PQPS & 2 a7 which PQIIRS and PS = QR. Show that
(i) APQR = AQ™S

(i) PR=0QS
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@ ABcnqzﬁ-mh , 'gnlwmt 5 AM=nMB &) NI AD SR ERE R CB W AR P 4
ARQ T ¥ & fom C@ (4 F'W"Q ar(ACTM) =ar(a CQM) &1

f?

\NE= MB, P afl @ points on sides AD

ABCD is a square, M i5 the Pt on Al such that AM
and extended CB such that CL! 1 1O Show that w(ACPM) = ar(AC

& e %1 = i, favmt apd 6.2 cm, 7.3 on 387 6 an @1 T S0 | g TR 4
AR T 73 F A g H § aEpees e § D vl el wm am @

Ty |

Construct a triangle having sides of length 6.2 em, 7.3 cm and 6 cm.

26
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ee angles. Bisect the smallest and the largest angle,

Measure all the thy

Measure any acute .xngle formed by the bisecting rays at the point uf

| r '.I 'h»

’g@;@“m 135 % % w2 W W A AW @ W oem 4
34020 %, 2 ﬁmtﬁ&fntssmhmdmlﬁﬁan Yo froad T =Y 9180 % ¥ TR A I9E W
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The cost of papering the walls of the room 12 ‘{1 Iu,lgf' dmt rate uf Rs. 1.35 per m? is Rs. 340,20

and the cost of matting the floor at the rate of '-h paiyﬁ p@'m is Rs. 91.80. Find the height of

the room.

27

F 4

= TF 9Ig F HH F 200 cm = 50 e % 100 em #1 v 0w ﬂﬁtﬁf%f""ﬁfrm oA orE 4
%?‘B}q %Wﬁﬁ&ﬁﬂrﬁmff:ny

Ametalhcboxlsmmeshapeul sialiad Cuntmaand bos v sing ol wies 200 em X S0¢m X 100 em. It
is recast into a solid cube , Find the diff rence ol' suthn- arvas of two solids.

29 U FPIETER FEAR 0.50cm F12 e A wn Byowdn wd allve fem gem 1 Y0 I W T 4
Teh YT TS AWl S e i)

A hemispherical bowl Is made of 0 50em thick brass. The inner tadius of the bowl is Gem. Find the

outer curved surface area and “olume of the bow!

4
3 T WA ¥ sfEml g s d-mma fairm W fa @ e s
W dEy s fretefom wweft F feamm o E-
l iy feml «) uen
gam——Ti-am 175
| 11 am—1pm | 125
l T 1
3 . !{)'\.l'_,;_‘ )
A .
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1 pm—3 pm |22%

1 3pm—5pm | 200
' 5 pm—7 pm | 120

T
MIE E LR -’-]1_]|-?.|\| 123 EOGl J1 = = == i S e —

1l

"_q—*‘-—-—-—v———-
') § T= F A=

L (d) 3 3R s AF T Al

The table shows the number of pecple visizng the Gocc-Fving paviion n 2
trade fair dunng different time of the day
' Time | Number of Peopls
|Qam-—11 am‘I 175
|
11 am—=-1pm | 125
i pm—23 pm 225
Find the probability | porson valed the pawion
(a) after 1 pm bul beton &
! (b) between 9 amto 1 pm
(c) after 5 pm
(d) belwean 3 pm and 5 pm
. fofafga TRl vF FEad W e v S e, wes w T &
W ASEF A W AR ™ & ;
iﬂ‘m(mm T T NEES W e
|
L
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') 0-80

l 60120

! 120-180
|

180-240

The given frequen
athelete running on 2

[ Draw a frequency polygon snd histogimm

R —

muUg- [ SCnon g

(% % Open Text)

(* Please ensure that open text ol the given theme bs supplicd with this  question paper.)

32 Theme-Il (Adventure Camp) (5+3+2)
(i)) & TE FAAT T FTET Frenfaay Ay qat i ﬁ'r:@ £ war ) Ao 77 HAXC
(ii)(a) Frr 7 7wl wIOT - A -i-u'—il"i.lﬂ? R
(b) oft speaTeEt ST it o Temrere famt S S a® S T oux
T RTA &1 T, & R whw e e d e A srTa, #er & W
T | ('.r‘—"%E AMEQ) |

; 1nwe the students in the buses umler the given
(i)(a) What was Dhruv's plan to arrange the students in the

page 14 of 15
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conditions?

(i) (@) Which cup has more capacily - cylindrical or hemispherical?
(b) If the camp manager would have exhausted all his stock of juice  in  serving
teachers and students in cylindrical cups with full cup, what quantity of juice did
he have in the slock? Find the volume in litres. (Use 7= 22/7)
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